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So, the mixture is formed by mixing two varieties, one at Rs. 130.50 per kg and the
other at say, Rs. x per kg in theratio 2 : 2, i.e., 1 : 1. We have to find x.

By the rule of alligation, we have::
Cost of 1 kg of 1" kindCost of 1 kg tea of 2'“‘ kind - -
Rs. 130.50 - Mean Price Rs. x
(Ea15ayils Bealad 2250
x5
+22:50
= x-153=22.50
= x=175.50

84 C , :

&s B. The performance of the individual has to be tested over a span of time as the
statement mentions. So, I is implicit. The statement mentions that the individwls

| worth shall be reviewed (during probation period) before confirmation. So, IL is also:
! implicit. o/}

8  |D 87.C |88.C [89.0 Joob  [91.C  [92D {938

94 D. Both I and II directly follow from the statement.

95, :...4B: This is an alternating number subtractlon series. First, 2 is subtracted, thea 4, then .
and so on.

96 c 97.A : _

98 C. The figure is enclosed in a new figure with one more number of sides, in such a way
that the upper vertex of the two figures coincide.

99 D. The issue is not so big as to be made public extensively. So, I does not follow.
Besides, the authorities must be prepared to deal with the problem effectively and
persuade the people to stay indoors to avoid inconvenience arising out of water-

_ logging. Thus, bothII and III follow.

100 C:: The figure may be labelled as shown.

A 2 C o E

b )
~ F

AL
% 3 t H L

The squares composed of two components each are BNQM, CORN, DPSO, MQTL,
NRUQ, OSVR, PFWS, QUIJT, RVIU and SWHYV i.e. 10 in number.

The squares composed of four components each are ABQL, BCRQ, CDSR, DEFS,

L.QJK, QRIJ, RSHI and SFGH i.e. 8 in number.

The squares composed of eight components each are BRIL, CSIQ and DFHR i.e. 3 in
nuinber.

The squares corposed of sixteen mrnponerm each are ACIK, BDHJ and CEGI ie. 3
in number.

Thus, thch are 10 + 8 + 3 + 3 = 24 squares in the figure.
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AT 29 D) HOARIDI 1Ml Answer Key

L @O0 [% (®®OD| 5 | ®®O0OD |7 | ®®OD
2. @O0 |27.|@®@®O0D®| 52 | ®®OD|77. | @®O®
. |[®®O0 |28 |(AEOD®| 53 |®E®OD| 3. |®@®OO
4. OO |2 |[A®OCD| 4 | @®OD | | ®®OD
15 |®@®O0C® |3 |®@®OD| 55 |®@®OCO| 8. |O®OD®
6. | @®O00 |31 |[®@®OO| % |[@®0®]|s |®@®O® |
7. |@®O0 |32 |[AEeOD| 57 |@®O0OD |82 | ®®O0
8. |[@®O® |33 [(AOOD| 58 |O®OD|33. | ®®OD®
9. |@®O® |34 [(AO®OD®| ¥ | O®OD |4 | ®®OD®
10. ®@®OD |35 |A®OD| 6. | A®OD |8 |A®OD
1. |[@®O® |36 (A®OD| 6. | ®@®OD® |36 |A®OD
2 [A®O00 |3 [(A®OD| 2. | A@®OD® |8 | ®®O0
1B |[®@®O00 |38 |AEOOCD| 6 |A®OO |38 |O@B®OD
14 |[®®OD | 39. |®®OD | . | ®BBOOD®| 8. | A®OD |
15, |0 | 40. |(®®OD| 6. | ®A®OCD| % | ®®O®
16. | @O0 | 4. |[@®OD |66 | ®EOD |9 |E®OD®"
17. |@®O00 | 2 [A®O®| ¢ |®@®OD| %2 [®A®OO
8. @O0 |83 |00 | % | @®O0D |53 | ®@®O0D®
1. [BEO0 |4 (B®OD| ¢ |®®OD| % | ®®OD
20. [@ACO |45 [A®OO®| 70. ®@®OD| 9% | ®®OD®
21. [A®OO® |46 [AOOD| 1. | OA®OD| % |A®OD®
2 (@00 | 4. [(®®OD| 72. | ®®O®| 9. |®®O®
23. [®®O0 | 8. |®®ODO| 3. | ®B®OD®| % | O®OO
4. |[A®OO |9 |O®OD| 74 |®®OD| % | O®OO®
25. |[A®O® | 5. 5. A®O0OD®|100. A®OO®

®®O®
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t_rlifﬁﬂ mﬁﬂﬂt GE 22 (Set 22)

I |

‘A mxﬁaﬁamazxxmamﬁammw@au :

B. F9rel X foreaafers fa.6. 4293 30 9 =1 aroneredt @4 s @)

C. %ﬁﬁmmm@ﬂéﬁm%xwmmmmfmu

D. mmﬁﬁwmmm%iomﬁHWMfml
mﬁzaﬁmwévawaa? ¢ty

A 1,2339E B. 2,3V4TH - c 1,349 D. .1,2;3749%

: 'wmaﬁmmm#mmmmmmmmﬁvwa ?
A, TIfeRYE, Yo, sfiele, JuTe, SR, STy, Wi, WRd :

B, Wi, 2, T, Sfieie, STBmRre, SR, TR, WA

C. wfeRw, yem, Torefet, Yo, ST, STEITETH, TFHEH, SR

D, wfew, Wmmmm |

BMSTECWW%HWWWW%WWW

A TR TSR — ST B, ¥ — =R
'C. IEERITSER — WRG D, e —> sheie
mmmmmmwmmmmm
a. Tefgm 1 ﬂ%iomaﬂ‘i
b.  Twfafeg - 20 R%0 BEET R
c. wEE 3. qReomER]

d. TEER 4. RE0A0
W€ a b e 'd

A 1.3, ¥4

Bir T S WE g

C. - 208" 4 ..3:-

DI @Ry 1738

e W 1 T 11 o s Prremsaerg FeEay

a. RGO S i L RO
b. R TGS BT Uy 2. & TEFIRYO -
. IR S O ) 3. - 9Y TR 9]YS
d. el i gur B 4. Y TR IRYS
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i p e d
A Ao Bo B ]
B. 54 2 j
C...1 2. ik 3
Py y " -
TR FoaIra GrrsvRorERT faaa g B 8 ?
A. ol s ke B. ¥ fy a=eH
C. IATHFUNYEH AT D. w=fys as

Which of the following diagrams indicates the best relation between
Judge, Thieves and Criminals ?

& Do . oo O

1 ﬁez: T DA HA HW 90 R T T, ¢ W T 5 T Dherwwdt S HE R e T e
WAL W TR0 HeEw I B B G T AR 2

~ If 6 men and 8 boys can do a piece of work in 10 days while 26 men and 48 boys can do the

same in 2 days, the time taken by 15 men and 20 boys in doing the same type of work will be:
A. 4days B. S5days C. 6days "~ D. 7days

fx= % andy = 33;—11 , then the val‘ug of (x* +y%)is: _ _
A. 10 ~ B. 13 : C. VY. ; D. 15
mﬁ Rxﬂﬁ%uﬁma@xaﬁﬁmmﬁv :

A sum fetched a total simple mter&st of Rs. 4016.25 at the rate of 9 p.c.p.a. in 5-years. What is
the sum?

A. Rs.4462.50 B. Rs. 8032.50 C. Rs.8900 D. Rs. 8925

34,88 TR mmmmmmwm mﬁﬁﬂifﬁa@naﬂaﬁ ¥
A D |

How many 3-digit numbers can be formed from the digits 2, 3, 5, 6, 7-and 9, which are

- divisible by S and none of the digits is repeated?

A5 B.: 10" €. 15 - D. 20

Y00 firzrant e SREMTART A T B 1 T UM ¥ B1 IR A A 9¥0 A= e W= W A Al
frrzt S foreem 2 :

In a 500 m race, the ratio-of the speeds of two contestants A and B is 3 : 4. A has a start of
140 m. Then, A wins by:

A. 60m ‘ B. 40m C. - 20m " D. 10m
0% T TNRTT SATIAT AFIAR TeTh! T SISl Tera © ? "

A. AT i) SRE1 SEEE T 9RER — 4% dfoed

B. @ TS HIS / TR TN T —> ¥ wfrwm

C. TR BH ¥ar T IiER — ©3.53 yfw -

D. HfEcTh! ATHET SRS Y URER — 9%.99 Wik



14. WWWW%'&/R? Rt N
: A.  EEITSH- m‘azfaaw e B. fafeguw -

C. Wi va © D wWhwE
15. GreenPeace?ﬁmm"Tma ? : £ e R
A TR0 B. TR LC. EFARER RIS b X ?FHWQ

16.- wﬂmaﬁmmm:mmvma? §ie

A drew e B. wwarg ufiEd c,.ﬁfaa:fa’ﬁm S o X mf‘ama%
17. wmnﬂaéw@tmv'&/ﬁ? . : :

LA mmmrﬂ‘z@

B. Hgwh waew IR @ .
¢ o) mmmwmmmmg
‘D.  AfwEy

' Questlon No (18-22). based on the fellowing passage - : _
_ The greatest thing this age can be proud of is the birth of man in the conciousness of men. In his' drunken

- orgies of power and nauonal pnde man may flout and jeer at it. when organised national selfishness,

~ racial antipathy and commercxal self seeking begin to display their ugly deformities in all their nakedness,
then comes the time for man to know that his salvation is not in political organisations and extended trade
relations, not in any mechanical re-arrangement of social system but in 2 deeper transformatxon of hfe, in
the liberation of consciousness in love, in the realisation of God in man :

18. . In this passage, the phrase "God in man" implies : :
‘A. God having assumed the shape of man B. neither fully godly nor fully human

C. “man being transformed into God " D. the divine qualities in man
19.  The author uses the expression 'ugly deformities' to show his indignation at
‘ A. political organisations . B. the liberation of human consciousness

C. selfishness and materialism of the people D. the drunken orgies of power v
20. According to the author, "salvation' of human beings lies in the :
~'A. extended trade relations
B.  spiritual transformation of life
€. 'orgy of national pride
D. wholehearted participated in political organisations :
21.  Inthe phrase "'the birth of Man in the consciousness of men", AMn stands for

‘A. power and arrogance - B. egocentricity j
e C. noble human qualities . ‘ D. anidealistic notion of the human self
22. People jeer at the *birth of Man' in the human consciousness when they
- A, begin to_thmk of themselves as God - B. become power hungry
“'C. restructure the social system P, become mentally deranged .
23, ER GVE Y QR SRS NAFEIS! AR 6T N ?
1. wonafes g 9 ST, 093 2. VRIRA ATSA HIEM, R03Y
3. IRIEH U ST, 0R L 4 YT e R, j0¥S

K UR& o AT e IR T M PR RS R 7
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27.

28.
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w1 ; TR

1. W a. R HME9RR3

2. AT b. 3 ATZRRR
3. dera c. RAREY -
4. Hifeg d. R0 FWEREE
€ 1 2 3 4

A. c d b a

B g od o ah

C: a b c d;

b R e S

D A R ASH T 2

A, GUHTH ATYRT farh fasraas e sy
B.  UI TSIEH! Uil IO T 9R49 W U A |
o MWWWIMWWWI
D. IR FeIh! Geard Haifa 912 HOH a1

AT AR 3T ﬁrgima.a.aﬁumﬁ t‘w vﬁtga, qﬁﬂhgﬂ@@mgﬁr

TEENHAR 2

The H.C/F. of two numbers is 23 and the other two factors of their L.C.M. are 13 and 14.

The larger of the two numbers is: _

A. 276 B.:::299:: . €5 :2322: D. 345

g wahtxammmv am%a%éw-’fw mﬁamwakrﬁﬂﬂ a:ﬁvaﬁm@m

afes 2

In a group of 6 boys and 4 glrls four children are to be selected. In how many dlfferent ways

can they be selected such that at least one boy should be there?

A. 159 BB C. 205 " D." 209

TS wiem e 9 A TB F fhgo: xﬁﬁmalaﬁ%ﬁaﬁmﬁm B é\ﬂ@mﬁAt
B I vt 9 O T A I Wiem e A =1 9o e @ 2

A can contains a mixture of two liquids A and B is the ratio 7 : 5. When 9 litres of mixture

are drawn off and the can is filled with B, the ratio of A and B becomes 7 : 9. How many
litres of liquid A was contained by the can initially?

A 10 B. 20 A R TR AL By 05

'meﬁmm:ﬁmxmm@wﬁmn%@mmmmm

SORTETH! HaT =R o1 ST T H S 2

Watch which gains 5 seconds in 3 minutes was set right at 7 a.m. In the afternoon of the
same day, when the watch indicated quarter past 4 o'clock, the true tlme is: : :

A. 595mm past3 - ' » B. 4pm.

: 3 v
C. 589ﬁmin. past 3 D. }2ﬁvmin.past4.
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31.

32.

34.

35.

SAFTA %! WA= Goih! YRet FOR e ?

1. SAFTA %! 3 %9 South Asian Free Trade Area @1 |

2. SAFTA 200% S9a{l 9 3@ @] 9t A1

3. SAFTA TG 7 TEhIl 00 S § HT YT & |

4. SAFTA 00} SHei § 3fie-qof w1 e S 81

A 1,26 3T47eW B. 1,2,3 §& 47w
C: 1.2;3 T4l D. 1,2,3 7 @47E

e i st s, MWtwmmml
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mferc—vhmm i. 30 I <
b. Etip] i W S IL s Een
c. TEHR i ¥R L. g
d. d=H v, ¥RE IV. =Rt
A aivl, bill, ciilV, diilIl. ~B. ailV, biill, ciill, divl
C.  aiilll, biilV, civl, dill : D.  aiiil, bivIl, cill, diillV
et favafaee T firs S s sEivs @9 ©mEE el Haege |
1 ’ TE I
a. Py fvafamem 1. fowem
b.  AUE Sga favafaaes 2. yfeaw
c. wRYE favafaeem 3. SRS
d. qaraw favafaames 4,  wifage
FE a b € iind
A4 3 2 1
B. 4 3 1 2
ot AL 4 1
1 gty GUOR M 4
T W e U € Wh e ol 2 o
A. SEmEd B. YRd ' Cc. ¥@H D. sz
mmwmﬁﬁmmmmmm«mma%mmmm
! G SR AT A T T 2 i
A, ¥RE, s, <, dieiw, adeave: 0 B. maﬁﬁmﬁasﬁaws@wvg
C. - ¥RE, =, A, et o D. i, S, S, aiee; st

From the given alternatwcs, choose the one which best expresses the given sentence in

Indirect speech. :

The man said, "No, I refused to confers guilt."

A.  The mnan emphatically refused to confers guilt.
B. The man refused to confers his guilt. :

C.  The man told that he did not confers guilt.

D.  The man was stubborn enough to confers guilt.
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Pick out the best one which can ‘complete incomplete stem correctly and meamngfully
The employer appeared to be in such an affable mood that Rolnt
A. decided to ask for a raise in his salary
B. - was scared to talk to him about his leave
L2 felt very guilty. for his madvertent slip, IR
D.  promised lum that he would not commit mxstake again - .
Pick out the most effective word from the: glven words to- fill in the blank to make the i
sentence meanmgfully complete :
" His father-in-law ..... him up in business. - : i e
- A, put’ CUUUBr  made o G et ' D bullt
- Pick out the most eﬁ'eetive word from the given words to fill in the blank to make the
‘sentence meaningfully complete. ,
7 Cvadens . works of reference are valuable as Encyclopedia, Brittanica.
A, Afew B. Few 4l C. Thefew D. Fewer
I WMIY ﬁmmmmﬁ@mm@w o
A el YR weAafa ot L g
B, el T SRR ST AR @ |

e v e SRR RS s T

. D. o iR T L
- FEAHIET TS AT VIR ST 1 g e e ol 2

A, TEIEEl BRI . ) B. ursHTEl
C. . 9 9g=a {99 98l D. @
e e Frelt deven Rest e dem g R 2
A R FISEHREM . B. Ul A
c. sfafgdaamasm : D. iFaR! S HRE
am s fyor dwRaE @ whe 2 S -
A fer .~ B. %R C. 3ifemn | D. qK
W EEIUeE I e e '
- gl ‘ : gl . |
2 VRS AHUH : 1. World Metgrélogical organization
b. AR T 2. - International Standard organization
c. TR e 3..  Transparency International
4. Hren wirsEh 4. UNHCR
iob i
AR EAlY N
R L R
3¢ 4 o e
7 SR ) 1o 4
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Out of the two bar graphs provided below, one shows the amounts (in Lakh Rs.) mvasted by a

Company in purchasing raw materials-over the years and the other shows the values (in Lakh Rs.)
of ﬁmshed goods sold by the Company over the years.

45,

46.

Amount invested in Raw Materia]s‘(Rs. in Lékhs)

600 - :
.'.i-' ~45d " i .20
-8
£ 300-
8 504420 l
0 - _
' 1995_ 1996 ' 1997 1998 1999 -+ 2000
' Years
Vélue of Sales of Finished Goods (Rs./in Lakhs)
800 + Bl S S . Y - ”
- 600 4+ A o

Rs. in La khs

e s ,500_..,_ - N ;
400 -
400 4 - e 300 t V&)

11995 1996 1997 . 1998 1999 2000

Years

T T e e TR T AR TS R e s fe S 2

The maximum difference between the amount invested i m Raw materials and value of sales
of finished goods was during the year?

A. 1995 B. 1996 ° C. 1997 ; D. 1998
9% T T wﬁmn@mﬁ%w *m: nw&m mwﬁmaﬂmmm

yfewm &2

_ The value of sales of finished goods in 1999 was approximately what percent of the sum of

amount invested in Raw materials in the years 1997, 1998 and 1999?

A. 33% B. 37% C. 45% 3 D. 49% :

T Frafr Fea gEdH e Sl T AR aege feshiae ST wew! Sl e Sl s 2
What was the difference between the average amount invested in Raw materials during the
given period and the average value of sales of finished goods during this period?

A. . Rs. 62,5 lakhs B. Rs. 68.5 lakhs C. Rs.71.5 lakhs D. Rs. 77.5 lakhs
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.- In which year, tl__le percentage change (compared to the previous year) in the investment on

Raw materials is same as that in the value of sales of finished goods?

A.. 1996 : . B. 1997 o G 998 e D.: 1999
@W,MMWWW@WWME ?

In which year, there has been a maximum percentage increase in the amount invested in
Raw materials as compared to the previous year? o

A. . 1996 . Bi 1997 - C: 1998 C. it Di 1999
T e g 1 Ve 11 forer ohven remegdg :
TR : EEI
a. E 1. SEfossH
b. & ~ y . 2. Toryuears
c. AR - : : 3. EESel
d. fagm : ' C 4 o feE
L P T S Y
SN R o R
Bii o gt gt g
G e B L giiiig
D A5 3% 2
T e /-t T W T Rl e R TR
a. 9 TIA — gl
b. Tz s : PR
c. TS IR e — TR
d = YR 5 ! — HM
A. abWdic,dTER B. a,b,c ¥ dTew
C.  ab,d¥dcTem D. a, d@& b, c o™
annﬁamﬁm
Rl ; . TR
A a‘rsmfrutm : 1. o
b.  TAPRIER 2. VAR
c. UREd WERg At 3. o
d. ﬁ'{!ﬁﬁt%ﬁﬁﬂﬂ‘« 4. IMrEegE
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B. o gy o

Co. "0 5302

Dy reiglo e g g

i TR TRE T A/ T ? s

A, T SR SIS GRgfden! el B. ﬂaﬂrﬁmmfaﬁmnﬁ
of mﬁﬁmzﬁgﬁmmnﬁ _ D. wifoes 99 ’
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A. Toi=s ygE s w§id — agal

B. e W1 G et — e

C. urerh! Jia afies arushd ghest — 0.04°c

D. SO AR 9fe JER NThH Tt g8l — FAg

Pick out the most effective word from the glven words to fill in the blank to make the
sentence meaningfully complete. :

This book is quite similar ...... A ‘

A. with the "Treasure Island" " B. of that film we saw at school

C. to the one I read last week ; D. than a story told by our teacher

If our friends are not able to take us in their car, we must make ...... arrangements to go to
- the airport. ; - :

A. alternative B. another ~C. alternate ~ D. possible

A crescendo of metallic thuds arose from the market, where the iron-smiths were ...... the

pieces of metals. .

A. flattening B. striking C. hammering D. ' thrashing.

I haven't eaten an apple ...... a long while. : :
‘A. from B. since C. for D. until

TR e WA o © 2 :

A. mmammcﬁ.ﬁq.ﬁ\aﬁuﬁ.ﬁ.@
B. WEgS W — Jqers Ffsia aersnt v9 fafs |
C. wm—»wmtmﬁ@wﬁaﬁﬁﬁﬁm@ﬁﬁmal

D. faferl o — J91 39E ¥o9R fA. ©H 31
QT ARRIOT el STeehTer 3 mmmmmmm@m>

A. Toyues B. <erEl c. fosaw D. @™
SFF G S Tt G & 2 o L
A URE B. G- Cc. fra=a D. M
38 Parallel F-51 SR TaMIom T S @ & 2 '

A. ST HIE T sfam Fif B. i@ I

C. IE T i o D. SR oo T afao



62.

63.

65..

66.

67.

68.

359

WWWW%MW'&?

A, THfdE SeRd B. <o faspn fae
C. TReMfgg@R D. v foem
mﬁa@mmmﬁmﬁﬁmm

Select a suitable figure from the Answer Figures that would replace the question m.ark ).
Problem Figures: ‘ - Answer Figures:

DI

A 1 : B. ‘2
TAFR 1 o ST e 9 2

Choose the figure which is different from the rest. .-

_ (1) 2) (3) @ .

A 1 B. 2 C. AN s A
MWmeﬁmm@ammiﬁﬁqﬁamgﬁm

T TSR ¢

A dice is thrown four times and its four different posmons are shown below. Find the
number on the face opposnte the face showmg 2.

) (n) (ul) : (n.r)
A 3 B. 4 5 _ D. 6
o X w @R mmﬁﬁﬁ?ﬁ'& ? '

Select the figure which satisfies the same conditions of placement of the dots as in Figure-X.

<l DA D (2D

; () (13 {2). . D) (2)
A B. 2 C. 3 D. 4
ﬁmwmmﬁmmmmmmmm
A, ey fedmr g “B. 9% ST 30
- C.  9R&Y SHa 30 D. 9Reyfedma 9

HRR A 7T fa 7 e g I R s 2

A S B. ol Cnm;‘r . D. ug%H
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m‘m@mﬁﬁhE?
A, TUEEST »

B. TEHA

C. mmmammﬁmmﬁwﬁm

D. Tgafed

(a)z(m)ma‘aaawﬁ:sqas’ta ‘

) e e favafaemeras) o fad. 0¥ NG A |

3m) ammmwmmwml

e ST SR |

A. (@) T () TR 8 B, @I (@sﬁ @

C. (31)T(3m) 33 e D, (3 G (3M) e

The parliament invested the new organisation ...... judicial authority.

A. by ~ B. with C. from D. through
Owing to the power cut in the area, factories are being forced to ...... men

A. throwaway B. send off ; C.  put off . D. layoff
Man must ...... to stop pollution :
A. act B. perform C. operate D. behave
e 98t (Acid Rann)an‘mﬁmwf%ﬁtmmmmnﬁﬂmﬁﬁﬁ 2

A Wuguafmy B, FfEw C. XTSI D TR
Tfiga fregest T rafier foeen drem et Premeg@l. SR

H) HhIG-IT0 N . 3IASH

m TS : . HgaaW

9 RrEgl-ArmeA 3 o=

3  I-wEgTR y. Toryueas

A X, IR E B. 3R, IM, TN

C. MM, | D. IR, R H

fremé Aferent SAfeHR 1 g 2
A. e sifes B. sfemEdE C. TEEEHEE D gﬁawﬁa

'mmmmmmmwmﬂ&mﬂwm

Select a suitable figure from the four alternatives that would complete the figure matrlx
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$
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79.

80.

81.

82.

83.
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YOS B B. 2 G @l B D. 4

e X = T 3R gl T e Eey 2

Choose the correct mirror image of the given figure (X) from ainongst the four alternatives.

29SS

h.
: 1) ) G) . @
AT B &3 PR LR
Wmﬁazmﬁﬁﬁaﬁzm :

- Choose a figure which would mest closely resemble the unfolded form of Figure (Z).

X Y ¥ 4
Q. °c o Vo o
D 0 oo ° o
o%%o e A
2
_ {1} (2) .+ {34 {4)
AT ol B. .2 C.~R : D; 4

. mmmmmmm “ 340 SR T SR VA P G I

HIH! B A TGS ?

- Pointing to a photograph of a boy Suresh sald '"He is the son of the only son of my mother."

How is Suresh related to that boy? .

A. Brother B. Uncler = C; Cousm D.. Father
TR TR TR T TR g FA R 2
A. T B. HaH C. fam : D. @
'DNA 1 g3 TR 39 FHA R 2 :
A. Adenine .B. - Guanine C. Uracil - D. Thyamine
ﬂaﬁmuﬂﬁmml :
TR F AW : T @ W T I
L) RS 1. ufmfER
3m . e 2. WAfim
3)  BAESE] SSHl I9E % TR
%) TR R v. afeefiem
; X HRIHR

LA | DR VRN *
A} 79 R 3
B.i %8 9 %
C. "=l S
DA 3 ¥ 3
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85.

86. -

87.

88.

89.

90.

91.

92.
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2 IUC R RESTRCIEARE (A L R | SRR | pR—— ==
A. BCG, F=a1 s ¥ vafa & o A '

B. DPT, 5= Sif=1 fafes -

C. DPT, S=a1 SI-HUHI & gaRi@ T o fis

D. DPT, 5== Sif-uah! @149 Afe fas

In the following questions four alternatives are given for the idom italicised and ﬁnderlined

in the sentence. Choose the alternative which best expresses the meaning of idom.
He was undecided. He let the grass grow under his feet. ‘
A. loitered around ' B. stayed.out

C. satunmoving hie D. moved away

In questions given below out of four alternatives, choose the one which can be substituted for
the given sentence. : :

A person who knows many foreign languages

A. Linguist ~B. Grammarian C. Polyglot D. Bilingual

In the following questions choose the word whlch is the exact OPPOSITE of the given vrords.
ESSENTIAL

_A. Extra B. -Noughts i C Minors D Trivial

A disease of mind causing an uncontrollable desire to steal is called....

A. Schizophrenia B. Claustrophobia =~ C. Kleptomania D. Magolomania
urer T Tl swwwificn ferae R Ife Y2 Hige WeHmT I & 2

A, ROSY HIEA ¥ B. Ro8Y¥ HRET % C. R09{TRAIE - D. 004 TEA9

45 it ufTe ems TRERTET A R e -

F. SR SUSATETEh! STl T U]

W. FUeH] ST : 6 Wl

T. RS GEERT I ¥Y i

A, wEEfEw 7 4 B. wiEfew

c. winfes . 'D. wafew
ﬁmmmmmmmwwmﬁmz

%. WEWA.g 9. - I SRIGY wdl

g W3 ) 3.  feq AR W

T TSR WRd 3 wWmis

¥, WYY & A FriEeari

A, H-3,E@-R, T-¥ . B. H-E-}7T-¥,E

G ®-3, T-3,79,59-¥ LD, HRE-Y-Y, 9 s ’
SO G AF FA ? ! RLs

Find out the missing term ?-

120, 99, 80, 63, 48, ? o

AL 35 . B. 38 C. 39 D.- 40




93.

94.

9s.

96.

97.

98.

363

. mmwﬁi@

Complete the following series ?

cooee. St oot .o 1S coee

A, tsts B. ttst C.  sstt : D. tsst
A S A i e 2

Find out the wrong term in the given series ?

121, 143, 165, 186, 209 e :

A 143 B. 165 - C. 186 D. 209
e Tesr STgenfaa de Qendies wii o 2

In the following diagram the boys who are athletic and are disciplined are mdlcated by
which number?

10
7 s
6 : 2
53| 2 [ 1—Boys () —>Athletics
4 . ey
2\ —Girls - [_] — Disciplined
-8 9
A 1 B. 2 ' C. 10 "D. 6

WEFEST ST wm%ﬂama—tm wa)#mmm@mmm/
Wl Wt o 2

%, Hifyee AEieE! Sataga g. ﬁgy{-ﬁ—nﬁﬁaﬂﬁga

. HAhd YN SER

A ®IG " B. #®@IT C. &,7I¥ D. w9
AT i qul WeR SeU S RIS A D 2

A. S TR : B. g TRuferat

C. A TRafesT D. ﬁwﬁgtmnmﬁaw

Question: In which year was Rahul born ?

Statements:

Rahul at present is 25 years younger to his mother.

Rahul's brother, who was born in 1964, is 35 years younger to his mother.
A. Talone is sufficient while II alone is not sufficient

B.. Il aloneis sufficient while I alone is not sufficient

C. Either I or II is sufficient

D. BothI and II are sufficient




364

WeaTES fog YU W 54 S 9 ?

99.
Which one will replace the question mark ?
A, 262 622 C. 631 ‘ ,D. 824
100. WW@MWWMW#W ?
Which one will replace the question mark ? ‘
A 45 B. 29 C. 39 - MSp 37
Q.N. | Answer |Explanation
._ Key :
1 2A [3D 4B - |5A . leD
7 B. All the thieves are criminals while judge is different from these. -
18 Let 1 man's 1 day’s work = x-and 1 boy's 1 day's work = y.
‘| Thén, 6x + 8y = 10 and 26x + 48y =
: 15 1
Solvmg these two equations, we get : X = 100 andy= 200
15 :20Y ‘1 '
15 men + 20 boy) s 1 day's work (l OO 200) i
15 men and 20 boys can do the work in 4 days. - )
A 1 d@at 1 © 3412 i
9 C . - (3+1) L+ ) (3+1)* 3+1423 543

EE A EVE TSl | Wi i
D)) (3-1)=(3-1)-=3+1—:'z3;2_3
TE+) X (3-1)T (1) 2 :
L RAY =43 w253
=2(4+3)
=14
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10 100 x 4016.2
Principal = Rs. (——19‘;5—""‘
(40162
9x5
= Rs. 8925. ;
11 | Investment = Rs. [20 x (50 - 5)] = Rs. 900.
Face value = Rs. (50 x 20) = Rs. 1000.
S 27 1000
Dividend =:Rs. (2 X 100) =Rs. 135.
I btai éd' (]35 100)‘7 15%
nterest obtainéd = | g5 X o= 15%.
12 To reach the winning post A will have to cover a distance of (SOb - 140)m, i.e., 360 m.
While A covers 3 m, B covers 4 m.
While A covers 360 m, B covers e X 360>m =480 m.
Thus, when A reaches the winning post, B covers 480 'm and therefore remains 20 m
behind. g
. A wins by 20 m. :
13 14D {15B 16.D-- [17D - |48R®:119.€. {20.B:: {21.D. ' |22.B. '[23.A
24. 25.D '
26 : Clearly, the numbers are (23 x 13) and 23 x »14).
» Larger number = (23 x 14) = 322 _
21 We may have (1 boy and 3 °1rls) or (2 boys and 2 girls) or (3 boys and 1 01rl) or (4 :
boys,)
- Required number of ways = (°C; x “Cs) + (C, x “C2) + (C3 x *C)) + (° c4)
- =003 C) +CC 2 +CCix ‘e +(°C)
6x5 4x3 6x5x4 6x5
=y (2x1 2x1) (3x2x'1 % 4) (2x1
= (24 +90 + 80+ 15)
=209. _ ‘
28 Suppose the can initially contains 7x and 5x of mixtures A and B respectively.

7 ‘ 21
Quantity of A in mixture left = (7x -12 % 9) litres = (7x - '—) litres
R L A 15
Quantity of B in mixtture left =|7x - 2% 9 litres = | 5x - litres.
21\ '
9
(SX - —> +9
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28x 21 7
=20x+219

=252x - 189 ='140x +,147 SR : ’
=112x=336 P a3 : '
=>x=3:

So, the can contained 21 htres of A.

29

30

31.A [32A [33B  [34C [35A |[36A [37.C [38B  [30A

40.

41B |42A - |43C

alalolo

The dlfferences between the amount mvested in raw matenal and the value of sales of
finished goods for various years are:

For 1995 = Rs. (200 - 120) lakhs = Rs. 80 lakhs.
For 1996 = Rs. (300 - 225) lakhs = Rs. 75 lakhs.
For 1997 = Rs. (500 - 375) lakhs = Rs. 125 lakhs.
For 1998 = Rs. (400 - 330) lakhs = Rs. 70 lakhs.

| For 1999 = Rs. (600 - 525) Iakhs = Rs. 75 lakhs.

For 2000 = Rs. (460 - 420) lakhs = Rs. 40 lakhs.
Clearly, maximum difference was during 1997.

45

600
Requucd percentage = m X 100%

=48.78%
=49%: .-

46

: oI : 1 '
Required difference = Rs. X (200 + 300 + 500 + 400 + 600 +460) SR (120 + 22_5
© +375 + 330 + 525 + 420) lakhs

o [ (e

! —Rs 410 - 3325) lakhs
= =Rs. 77.5 lakhs.

A

The perccntaoe change in the amount mvested in raw-matenals and in the value of
sales of finished goods for different years are:

Percentage change in Amount invested in raw-material: -

For 1996 = (22515320 x 100 |% =87.5%

For 1997 =| C2222) 100 |t = 66.67% -

LN

For 1998 = -(33:27»5375 %100 |% =-12-% -
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For 1999 = 52535530 x 100]% =59.09%

™~ 4 -
For 2000 ={ : 2(;255 22 X 10,0]% =-20%
Percentage change in value of sales of finished goods:

For 1996.=| 3222200 _ - o6 — 50%.

200 |

500 - 300
300

400 - 500
500

For 1999 =[@3—60i092 x 100 [% = 50%.

For 2000 = G%Oglx 100 |% =-23.33%.

Thus, the percentage difference is same during the year 1997.

L

For 1997 =|

x 100 |% =66.7%.

. -

x 100 (% =-20 %.

For 1998 =

48 A The percentage increase in the amount invested in raw-materials as compared to the
previous year, for different years are:
(225 -120 ]
For 1996 = L‘Z'S—l—)x 100 |% =87.5%
| 120 g
(375 -2 i
For 1997 = £_3l_22-5_252x 100 |%. =66.67%
For 1998 there is a decrease.
(525 - 330 ]
For 1999 = L—sz 100 {% =59.09%
For 2000 there is a decrease.
- There is maximum percentage increase in 1996.

49 A 50.A |51.C- |[52D 53.A |[54.C. |55A |56C (57.C 58.D

59. |D 60.B- [61.A 62.B

63 |A. The figure gets laterally inverted.

64 A. The pins, equal in number to the number of sides in the main figure are attached to the
midpoint of a side of the main figure in case of figures (2), (3), (4) and (5). In fig. (1),
these pins are attached to a vertex of the main figure. '

65 & From figures (i), (i) and (iv) We conclude that 6, 4, 3 and 1 lie adjacent to 2. Hence, 5.
must lie opposite 2.

66 A In fig. (X), one of the dots lies in the region common to the circle and the square only,

another dot lies in the region common to all the three figures - the circle, the square

1and the triangle and the third dot lies in the circle alone. In fig. (2) there is no region

common to the circle and the squére only and in each of the figures (3) and (4) there
are regions which lie in the circle alone. Only fig. (1) consists of all the three types of
regions. ) 3 . .
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67 . 68.B [69.A " |70.D 71B  |72D 73.A |74.A |75.C | 76.B
77 There are 3 types of shadings in the triangles, 3 types of legs, 3 positions of circles,
each of which is used only once in a single row. The circle is shaded in alternate
figures. '
78 No answer description available for this question
179 No answer description available for this question.
80 mwwmMWWmWMmmdemmmHWWWMMWmwmd
Suresh. Hence, Suresh is the father of boy. d
81 82.C |83.C |84.C |85.A |[86.A |[87.A |88.C |8.B |90.D 91.B
92 The pattern is - 21, - 19,- 17, - 15,.....
. | So, missing term = 48 - 13 =35.
193 The series is tst/tst/tst/tst. Thus, the pattern ‘tst' is repeated.
94 Each term in the series is obtained by adding 22 to the preceding term.
So, 186 is wrong and must be replaced by (165 + 22) i.e. 187.
95 The required number is 2.
96 97. & :
98 From both I and II, we find that Rahul is (35 - 25) = 10 years older than his brother,
who was born in 1964. So, Rahul was born in 1954.
99 915 - 364 = 551
and 789 - 543 = 246
Similarly, 863 - 241 = 622.
100 - SR 8 13 22 39

L el [} || |

x2-1 ' x2-2 x2-3 x2-4 Xx2-5

Dooooooao

: mmtﬁw@rmﬁ

: SR, TR

:  Safed, FRHS

: m(mtmﬁwmmm)
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Ac éQ @I FARIDI oIl Answer Key

®EO®

26.

OEO®

51.

| ®®O®

76.

®O00 |

@®®O0®

27.

®EO0®

52.

1| ®®0®

77.

®®O0

@®0O00O®

28.

®®O0

53.

®O00

78.

®®OO |

@®®OO

29.

| ®®0®

54.

®EO®

79.

@®®O0®

®®OO

30. :

A®O®

55.

®®O®

- 80.

®®O®

@®O0

31.

A®O®

56.

®®O0®

81.

®®O0 |

@®00®

32.

®@B®OO

57

®eO0

82.

@®®O0®

®@®0®

33.

A®OO®

58.

®®O®

83.

®B®O®
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A®O0

34.

BABO®

59.
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35.

®®O0D®
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®®O®

85.

BB®OO
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36.

®®00®

61.
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86.
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62.
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87.
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®®00

38.

®EOD®

63.

®EOO

88.

®B®O®

[
o
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39.

|@®@®OCO®

64.

®®0O00®

89.

®EOO

o
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40.

®EO®

65.

®®O0

90.
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66.

®®O0

91.
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laaj,ar {Tc 23 (Set 23)
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¥

: ﬁwﬁﬁmwmﬂww&ﬁwan - ‘
A TISH ' B. 1I¥HAHIS
C. ¥ AFIF ’ D. 9,3I¥ T
2. ! O T R TR SR A AL ' ,
A. T B. wif$amm® C. femfax » O e

3 A T & U gEfaa 2
A. mmmmﬂaw B. feiifasma

C. Sfewmufafy D. mmmm
4. m&mwammmmt@mwa7 :

A.  virifes fasmem B.  fauH gramawt
. C. YEERAYE j » D. ¥ARH e ©a
5. WEITYE Ixmmmmmmwmz

gl g I . TR I

a. T HEWFR 9.  oIfUSY HERIR i) 3Roo fHe

b. AFYFEEIR 3. TR HERFR i) oo frx

c. feRwmemrc 3 foATER WERER i) 933 A

d. TRWEEER Y. O HERIR iv) ¥300 iR

A a-¥-iv B. a-Rii C. c9-v D. b-%-ii
6. @R R ; ‘

2.
A. ﬁr@r/mm B. g&w T
C. TiREy gy . D. O/ o



10.

11.

12.

AL 36
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AL F SR W=

Which one will replace the question mark ?

( II

A AL T B. 64 . - € 35 - B 61
Answer Figures %7 f&&e9e! Problem Figures =1 Jofe Fra & 2

Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures. : : :

Problem Figures: Answer Figures:

a. ® © O @ ) =@y .7 (3 Ay ()
7 O CRER R R R CL5 DT
AR B R A o0 52 W T =R A B & W1 %0 e o - foeads | e o &t
A is thrice as good as workman as B and therefore is able to finish a job in 60 days less than
B. Working together, they can do it in: X

1
A. 20days - ‘B. 22§days © C.  25days D. 30days

Giv'eh that 10%8=x, 10*° =y and ¥* = y?, then the value of z is close to:
A. 145 _ B. 1.88 c.: 29 . b.- .37
g 1 THE 1 et sire e Freare. T8 ST e e

a. . Taqad uftea frass 1. - 934%

b. SHITEA ghe 2. A

c. TR U 3. Sifaes fafaua
4. T fafaerar 4. T R00Y

A. a2,b-1,¢c4,d3 B. a-1,b-2,c3,d4
C catTh?2 .04 3492 D. a-3,b-2,c-1,d4
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13. mmmmmmmwmmgm@—@m
A, GTHRN T Fiferogst , B. RuidmmeEn o -
C. il T R - . D. gRitI@Er

4. SERY & PPP Y1t & gRFD? ‘

A.  Public Private Partnership B. Polluter Paid Pollution
C. Polluter Pays Principle ; D. People pays for Pollution
15, areft 3 wEeR | : :
1. AU WEYH O G, HI ATH S TG T oy |
- A g R TR T v TEs
A TaH. 0u8/04, IR 79 | B. fa9. 30330%, daad
C. fad. qo33/03y, swad i D. f34.3095/09%, ufa a4

Question No (16-20) based on the fi)llowing passage

Modern economies does not differentiate between renewable and non-renewable materials, as its method
is to-measures everything by means of a money price. Thus, taking various alternatives fuels, like coal,
oil, wood or water power: the only difference between them recognised by modern economics is relative
cost per equivalent unit. The cheapest is automatically the one to be preferred, as to do otherwise would
be irrational and ‘uneconomic’, From a Buddhist point of view of course this will not do, the essential
difference between non-renewable fuels like coal and oil on the one hand and renewable fuels like wood
and water power on the other cannot be simply ‘overlooked. Non-renewable goods must be used only if
they are indespensible, and then only with the greatest care and the highest concern for conservation. To
use them carelessly or extravagantly is an act of violence, and while complete non-violence may not be
possible on earth, it is nonetheless the duty of man to aim at deal of non-violénce in all he does.

16. Which of the follewing statements may be assumed to be false from the information in the

passage? _ > -
1. The writer finds the attitude of modern -economists towards natural resources to be
uneconomic. ' : )

2.  Buddhist écondmists are in different to the cost of fuels
- 3. To use oil on non-essentials is contrary to the Buddhist economic philosophy
- 4. To fell a tree is an act of violence not permitted by Buddhist economists of the above

statements 5 .
‘A land2arefalse B. 1,2and4 are false
C. 3 and4 are false : D. All 1,2, 3, and 4 are false

17.  According to the paséage, Buddhist economists are not in favour of
' A.  measuring everything in terms of money
B. usiﬂg noﬁ-renewable sources
C.  economic development :
: ~B. applying non-violence to every sphere of life
18. - In this paﬁsage the author is trying to
t _ differentiate between renewable and non-renewable materials
show that the modern economist is only concerned with costs
underline the need for conserving natural resources
different between two economic philosophies

Yvows



19.

20.

)

22.

23.

25.

26.

27.

Fill in the bla: ks with the appropriate pair of phrases:

The passage suggests that while a modern economist, considers it uneconomic to use ......form
of fuel, a Huddhist economist considers it uneconomic to use ...... form a fuel :
A. . acheap, a renewable ’ o B. anirrational, an essential

C. anexpensive, an non-renewable - D. arational, an unessential

The Buddhist economist's attitude implies that fuels like coal and oil must be used only if
A. there is a plentiful supply’ :

B. wood and water can be dispensed with

C. the relative cost of each is than of wood and water

D. there is no alternative fuel available 5 :

TYH T U Agenda for Development ® STEEIRUN FRge T Herarea 1 17 .

A. S99 B. wdanesesd C e D, dA®HI
TEIITEE I fire Shre! fireTé Freae ST ST S TR |

. =gl I
a. - Asian Clearing House 1. India
b. Reserve Bank 2. Sl b
c. ASEAN 3/ ufema ST ATE Wed
d. Aug-22,1966 4. Asian Development Bank
T
A. a4,b-3,c-2,d-1 B. . a2,b-1,c-3,d4
C. al,b2,¢3,d4 B D. a4,b1,c2,d-3
* o R SIS FIoH! GO B WD 2
A 9= B. d= c. m D. el

A Y AR T U fae S e |

. e wd g AR Tyt faemer i @

3. e <y feare o . 089 e SIS AT 8 |

A TIH B. 93w WFE € P D. 13w 3w

s Wit g T AR, y wirita Az T q0 SHlE) A TR ¥e0 T B 1 TR egeh! WEE TR

T VI3 U S 6 S e B 7

A man has Rs. 480 in the> denominations of one-rupee notes, five-rupee notes and ten-rupee
notes. The number of notes of each denomination is equal. What is the total number of notes
that he has ?

A. 45 B. 60 .35 D. 90
4 T A T S 3. 5L IR R S R GYY B WA ST e WA i e 2

A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years.

".The sum is:

A. Rs. 650 B. Rs.690 C. Rs.698 'D. Rs.700
s qo0 fiet qeT A & B o 90 iR < C = }6 frexdt fes v e dem B & € &% Ffa
frret fres g 2 ;

In a 100 m race, A can give B 10 m and C 28 m. In the same race B can give C:

- A. 18 m B. 20m : Cs:.:27m D. 9m




28.

29.

30.

3L

32

33

35.

36.

375

)

'CORPORATION' T TR Hoige TTH A8 T Hiet aRepIet ot qipes 2

In how many different ways can the letters of the word 'CORPORATION' be arranged S0
that the vowels always come together?

A. 810 ~ B. 1440 C. 2880 ©D. 50400
TG 33 & T N favae! g7 Torifos el gefaa s 2 2
A. RO T HIRE z ' B. rifis e d@mE

C. . %t st : D. I T

TP FAHI TS B 2 '

) R Y e S T el yeee s
) - MR TETRE 350 T A 511
3) IR EeT Sfaad ufk g g9

A TEF B HI3ISH C. TId® - D. FIMAEIE
R J[afafea e B - FED |

A g ssSfeamm B. I T wEhel

C. e foaewra ; D. SAfFwE T FAEe

From the glven alternatives, choose the one which best: expresses the glven sentence in Direct
speech. ;

Nita ordered her servant to bring her cup of tea.

A. Nita told her servant, “Bring a cup oftea.”

B.. Nita said, "Bring me a cup of tea.”

C.  Nita said to her servant, "Bring me a cup of tea."

D. Nita told her servant, "Bring her that cup of tea."

Choose the alternative which best expresses the meaning of idiom.

Leéaders should not only make speéches they should also be prepared to to bell the cat.
A. Totake lead in danger, B:. To tie bell to a cat's neck

C. Tobe alert of the enemy D. To make noise ,

Pick out the best one which can ¢omplete incomplete stem correctly and meaningfully
He always stammers in pubﬁc mieétings, but his today's speech ......

A. was fairly audlble to everyone present in the hall

~B.  was not received satisfactorily

C could not be understood properly
D. was fréé from that defect

He was sent to the prison for his ...... . .

A. sin - B. vice : F@yLerie : S5 B ~D.. guilt
mMmﬁ@memﬁMﬁ—ﬂa?

A FTERIFITEY . B. mmzmm

C. HEER AT T FolEe g D, e o1 T THeE fereg
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38.

39.

40.

41.
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share 50%. If the total profit at the end of one year be Rs. 21,600, then B's share in the profit
is: . .
A. Rs.2100 B. Rs. 2400 C. Rs. 3600 D. Rs.4000 =
T fegum 1= 3 fasees o9 -9 9 A T am T aaeeh B smea wies 2

Select the alternative which represents three out of the five alternative figures which when
fitted into each other would form a equilateral triangle. :

A N T Xy B
(1) .- A2) (3) - (4) . N
A. 234 ‘B. 134 S C. 345 D. 245
Answer Figures m’(ﬁﬁw Problem Figures £l ’lvhmiﬁmﬁa ?
Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures. : :

-Problem Figures: * Answer Figures:

[ ]PN @0 [NA [0> S [OF BAS A@ 5
NDSOOSAAPOIDOS|SNP| IPOS@ANPOOPOSIPNG
e > INS o © |loN jso DN DN Do
W ® (© ELP @)

P

( C (D) () 2 (3) @ - O
A4 B. 2 c. 3 D. 4 S
' mmmwmmﬁmzmmmmz
TEA : . ®EB :
a TSN g NS 1. Bfee
b. WER A 9 : 2. JEEEl
c.  Yamfa freamfee am 3. WIfaE
d. e A g 4. ¥
T e .
A. a2,b-1,c4,d3 2 B. a-3,b4,c-2,d1
C. a3,b-2,c-1,d4 D. a4,b-3,c-1.d-2

el TR T R A ae % S 2

A, @ER B. fawn C. T : D.. T .
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42, TEITEE 1 forer st e Freeiie 37w S SIE THRA |

Rl | wE I
) HETTOLH T F) 9,¥¥000 KW -
), FErEg : : W) %%000 KW
3 wWEFEEE M) 90,000 KW -
%) faxi@en _ ) %0,000 KW
A F-T, -9, 3-T, 3% B. -, -7, 3-9, -9
C. d-@ A-F,3-9,i-7 D &% a8
43, e sk e ofteh TR A AR 2 '
A U YsEEEE AN B. 33 yseatia Al
C. 78 Toudta A ' D. <9l geaeta e
44. The answer was written ...... blue ink. - :
A.  with b Bt DYyt v C.. . in D. on
"~ 45. Many...... decisions were taken at the meéting. 4
A. hectic B.  historic ~ C. . historical D. histrionic
46.  Those who persist in the endeavor at long last triumph ...... the odds of life.
A. over i B. on © C. upon ' D. - about’
47. In the modern materialistic soclety, the only aim of people appears to be ...... money by fair
means or foul. _
A. print ' B produce C. acquire D. extort
48, mmmmmmmav . 23
A. fagear e fae ‘B, SiqER B FREH
C. A9 sme fm B2 D. e 54 ufq 2A
49.  1SO-14000 series F AT TS ? - _
: A. Sustainable Development B. 'Quality Management
C.  Global Environment protection D. Environment Management
50. mugmmmmmmma .
A 0.00% B. 0.0y C. 0.% D. o0.%

T el Y g w9284 3 009 W S T Pt Sgawe! sl wgd TR B 1

The following line graph gives the ratio of the amounts of imports by a company to the amount of exports
from that company over the period from 1995 to 2001.

Ratio of Value of Imports to Exports by a Company Over the Years.

54
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56.

57

58.

59.
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- gz 9]_5 | L0 FASH! AR TFA TIRRE TR mwﬁw xoo mm&«w tﬁm& o

whe! I TR o ?
I the imports in 1998 was Rs. 250 crores and the total exports in the years 1998 and 1999

. together was Rs. 500 crores, then the imports in 1999 was ?

A. Rs.250 crores ~ B.. Rs.300crores. C. Rs.357crores D. Rs. 420 crores

. mﬂmmtﬁ%ﬂmwaz

The imports were minimum propomonate to the exports of the company in the year ? 2

“A. 1995 - B.  .1996 L SO 11997 : D. 2000

muiftmcmmmmmw ?

' ' What was the percentage increase in imports from 1997 to 1998 ?

A T2 56 C. 28 D. Datainadequate
% 9%% T AFA R ﬂmgﬁmwﬁmmmmm ?  If the imports of
the company in 1996 was Rs. 272 crores, the exports from the company in 1996 was ?

A. Rs. 370 crores B. Rs. 320 crores C.  Rs. 280 crores D. Rs 275 crores

o S i S TR A v PR aes?

In how many of the given years were the exports more than the imports ?

A 1 - B. 2 Gl =3 ' D. 4

T feaet SR freevgeane et X % arm R i oFger - -

_ Choose the correct water image of the given figure (X) from amongst the four alternatives.

A. B.
A. mmmmmw@au
B. mt@fmgﬁmmmﬁuimmmaﬂmw YTHT B |
C. IITRIR A WEFHI R HeE T - ;
D. T T o G 9f5 T T W T Y2 A
mmmmm
mmmmwmm@w ......... it | ST IR covorvoreene S
wiafafe w11 _
A WFE, /9 B. SR R C. 3 en . D. w5
mhmmnﬁmqﬁemﬂ@mm@ ?
A. IBRD B. IDA C. 'MIGA D. IFC-
' Parvart SRS T T TN T e S e e freegery? '
) fava g @9 9. wfgs
an) fava v @ 3. SAW
3) fava difss weafa @A 3. afgegA
) i SEE WA Y. &

- %, d9vsA
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65.
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A 3, M, R, N ‘ B. &, am, R

C. 3R, MK D. IR R, A
mmmwmmmmmm oeie B ?
A, EIRY& B. W45 C. T1IREY D. WREs
What is the ...... for an air letter? :
A. fare B. value - C. postage D. stamp

" He became enamored ...... her grace when he first saw her dance. '
A. with : B. of : C. by ) D. in

In the following questions four alternatives are given for the idiom italicised and underlined
in the sentence. Choose the alternative which best expresses the meaning of idiom.

I met him after a long time, but he gave me the cold shoulder. :

A. ' scolded me B. insulted me C. abused me "~ D. ignored me

TETH! HYER fTaR TR |

&) T TR e g géaﬁmﬁﬁﬁqﬁﬁmmw@ax
) T HY Y R TR TR DS | .

3)  WEHIA ﬁmwﬂﬁm@mﬁaﬁmmﬂmmn

A. Ffsw, iz afss B. &, 3 3fes, 35w
C. & afss zafss D. &, 37, 39y 3%
- e TR T SR I TR | : -

TR ‘% () : - wEE (e

) = 9. BEm

) e . THA

3) e 3 ERT

Y T ¥. e

A, W, AN, RN, R B. W, M, ¥, N
C. MIART,AN D. 3R B, N
mmammmmmmmmmmm?
A TR TAY : B. G099 FA Y
C. TR0 F & o5 D. RO
mﬁ@ﬁwa@mﬁﬁwwm

Choose the set of figures which follows the given rule.
e« Soft Sifa STl SRS SIS SH AERu S |

Rule: The series becomes simpler as it proceeds.

{1}

- FFEEE
- [l
| B®|® (S|P

TA 1 B.. 2. - C. 3 " D. 4
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70.

71.

72.

73.
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7 T fo (X) o Qo s 2

Identxfy the figure that completes the pattern.

e e ee

1) 3
A1 “B. 2 c. 3 ~ D.. 4

@ g fawcuscar wé famewe! wie W AfaaE W =)

Select a suitable figure from the four alternatives that would coniplete the figure matrix.
\1/ N
K| &K | X
1Ala]?
ey X X °.

s (1) (2) (3) (@)

A1 B, 2 RS D. 4

X a1 Reguant Fasen SFee 1R T/ 9,3,3 CIR1 %?fasramaaafm ? Find out which of the figures
(1), (2), (3) and (4) can be formed from thg pieces given in figure (X).

<y O

) (@ 3] @)

A 1 p. 2 ' e 3 D
S TR & T R § ? g |

A. fafagemnt B. 9rHaIgd -

C. e vure ufEsmn R D. =i aa

TR 1 T 11 Tore sirel PreTiegeig X reaie 9l Seept SHIe TI9er -

Rl ’ : el

a.  JAICA - 1. wiens

b. DFID 2. i

c. USAID 3. UM

d. 4. - SeId

Helvatas Nepal
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75.

76.

- 77

78.

79.

80.

81.
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E a b ¢ d

A4 314 3

B: 4. .3 :3:- 1 b

- 3. 4 g

D. -3 4 1 2
Wx.ﬁfmmm(UNEP)ﬁmmﬂ@m7

A TR B, W99 C. TAIReR D. J{9%93
TEAHT YRR =R T - g

1. I U el Gea IR 15 e U 5|

2. e o1 1Y WY A el e S| )

3. e 24 Fedmar 1955 T Hgw T o) WEwa I TE o |

4. mwmmwrﬁmmmmﬁwmﬁa

TR 7 R T S 2

A 133 B. 2313 C. 314 D. 174
AT TS SR A 7 ..., BTG oo A AR R A
A. 9FFT, Towe B. Sifee, Wt sRfamn

C. ¥, usd atfam : D. fgs, Tewe

In questions given below out of four alternatives, choose the one which can be substituted for
the given sentence.

: One who has little faith in human sincerity and goodness

A.  Egoist _ B. Fatalist C. Stoic D. Cynic
One who possessés many talents is called ......................
A. Versatile B. Nubile C. Exceptional D. Gifted

In the followmg questions choose the word whlch is the exact SIMILAR of the given words.
FAKE

.A. Original : B. Imitation C. Trustworthy o s Loyal

FfspfHfesEt TR Tere YEee R e |

1. smfsffesE s gamgd 60 a1 s fo |

2. nfefufesens yErmes TSR (Prince of Experiment) 9 s1fs |

3. amammmmaﬁrmmmmmmmml
mﬁmmﬁaﬁa/av

A 13299 B. 13390 C. 1,233®d D. 2334m
YR TSR] WER e WEeT R TR - .

1. mxaﬁaﬁﬁa%xca&axmmmmﬂ@fmr

2. HA9R%0 HI TS HREEIRE SHATH! TSIHT s701 uh! foah |

3. WA AT Tl 3AE gashel AT WHO T o |

4. FRRY N WUFHST 4R ATHHRIS SR wHor T fog |

! F TR e S 2 : , :
A 132 B. 233 C. 34 . D. 133



83.

84.

-85.

86.

87.
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T T SIS H) T qeeR! W TR TR -

1. e X Efeeve foe qo AR 4R 4R H1 S TR S ORI
2. g3 TErEl a1 yaiaed qee §h
3. mmﬁmmmwmmm.
TR A TFE TR T/ ?
A 19 B. 13129H C. 1,233 &9 D. 2139
T fegw 5 o o X o ol e © 2 '
Find out the alternative figure wh!ch contains figure (X) as its part
OBk i )
A1 B. 2 C.-3 D. 4.
ot X o @) remma) T fren o v i)
Select the figure which satisfies the same conditions of placement of the dots as in Figure-X.
Q2 @ @ o
: "
{x) ) € ¥8) (4)
AT _' . B. 7 v, \ A Gt Piipdes
Select a suitable figure from the Answer Figures that wouid replace the question mark (7).
Problem Figures: ‘Answer Figures: . ¢
%Tﬂi Lo ]2 | ;:?)‘:-?1 L ’2—431
(A) (B) G D) (v (2% 6) 4) %)
A 1 p By 2 ) Coni3 ; D. 4
T A T TR TS A A ® D ? ‘
A. Hygroscope B. Bathyscopie . C Hygrométer D. - Lactometer
T 130 T 11 e o g @ i ey firerd e v SWOSR THRN
ki 2 TRU '
1. HIRITHR a. A&
2, wEEE b, afash.
3. T c. fedidn
4. I d.
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91.
92.

93.

94.

95. -

96.
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e 1 2 3 4

A. d- a b c

B. a b c d

€. qa. ¢ b

D. a ¢ d b

¥ e S g e e R 2 :

A A B. T=UUS C. W D. GF T i

In the followingA questions choose the word which is the exact OPPOSITE of the given words.
HYPOCRITICAL . ‘
A. Gentle B. Sincere C. Amiable D. Dependable

Copper 18 wsiesivooi useful metal. _
A. VRS fant o C. the D. none

mmzmmmmmmwﬁmmmw

A. e 3fym, 095 B. 35,3, 095 C. R AfiE, R0 D. 3o fiE, 095
St TITET T TR FfeRor ATAR T 099 ) FANR] o TR W HA D 2

A. 5%, TR B @US, SAW Cc. aAfFh =Ee D, foemy FEEerR
R g

- % Ige- wmpe e mmmmﬁqﬁwnﬁ'{%ﬁm

T, A gE e s 9o R . B
N g veEET mmmmmgﬁmﬁmaﬂz mfawm'm'
i &0 SerTnm ige- wgﬁ;ﬁqsamﬁn

A, miafes B. ®wi1@fes C. winfss b, _zr&fﬁ

State. ~nts: All men are vertebrates. Some mammals are vertebrates.
Cencigauns:

A" men are mammals.

All mammals are men.

Some vertebrates are mammals.

All vertebrates are men.

A. Only (4) B. Only(2) C. Only(3  D. Only())

U A I T YIS G T 3t 2w B 1 3% T e O wa

.......... MEEE TR Ry '

A 950,095 9% B. 4R3095F&  C. 950,095 FAE D, - 9u], 09T A 9%

TR TR : '

3) mmmmmmmmmmwmﬂw
309 i fedvay ¢ =1 = M fog i

A1) I SO EH SRR I A A AT S R qa e o |

3)  HIE U WIS WETEHTR] STIGHT TAHT SIS 30! TSR] T991 JFgar faa an
A SRA AT Ga1 AT A T FEHG FEEIRES Ha U e i

B PR
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A. AT, sz afes A - B. ¥ 333 36w
C. a3fssk, g o : D. X AI3EBw
97. 3095 W I ST TEEH! THE G—7 1 e T Fal wos! frl 2
A, A AT B. HMISHh FAH
C. 3! Fmehi-ar D. SHARRI afcA
98.  TTH! VIege A A i B2 ’
Choose the word which is different from the rest.
A. Car B. Scooter C. Helicopter D Cycle
99.  'Reading' is related to 'knowledge' in the same way as "Work' is related to..............
A. Money B. Employment C. Experience ° D. Engagement
100. F¥eTE o8 WU WA H9 95 §9 ? AZBY : CXDW :: EVFU : ? .
A. GTHS B. GHTS C. GSTH D. TGSH
A R e T T s
Q.No: |Answer | Explanation : - '
Key . . .
1 D 2A  [3D - [4D [5.A l6.C
7 C. O+2+6+4)-2=
and (6+2+10+8)-2=24 ’
Therefore, (4 + 14 + 12 + 10) - 2 = 38.
8 1B 1)’=1,(2)°=8, (3)3=27
Therefore, (4)° =
9 C. The element havmcy trapezium at its end, rotates 135°ACW and the trapezium gets
inverted in each step. The other element rotates 135°ACW in one step and it rotates
45°CW and the symbol at its end gets replaced by a new element in the next step.
10 B. '
11 C X=y & 100%= 10"‘07‘” 1040
= 0.48z=1.40 ’
~'.:>z—14480—%-29(appr0x) _
12 A 13.c_ |14.C 15B [16B - [17B [18D [19¢c [20D
21. C 22D [23.A 24.A s '
25 D. Let number of notes of each denomination be x.
o Then x + 5x + 10x =480
= 16x =480
* x=30. _
Hence, total number of notes = 3x = 90.
26 C. S.I for 1 year = Rs. (854 - 815) = Rs. 39.
S.I. for 3 years = Rs.(39 x 3) =Rs. 117.
.. Principal = Rs. (815 - 117) = Rs. 698. .
27 |B. A :B=100:90. ’
A:C=100:72.
B A 90 100 90
B :C=KXE=‘I—O_5X—§-=ﬁ
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When B runs 90 m, C runs 72 m.

When B runs 100 m, C runs (72 X IOO)m = 80m.

90
. B can give C 20 m.

In the word 'CORPORATION', we.trcj:at the rowels OOAIO as one letter.
Thus, we have CRPRTN (OOAIO).
This has 7 (6 + 1) letters of which R occurs 2 times and the rest are different.

: : 71 .
Number of ways arranging these letters = 21= 2520.
Now, 5 vowefs in which O occurs 3 times and the rest are different, can be arranged

51
In ﬁ =20 ways.

29

30D [31.A |37 [33.A - [34aD  [35¢ B6€

377

Ratio of initial investments = (% : % : g) =105:40- 36.

Let the initial investments be 105x, 40x and 36x.

A ‘BrC= (105x x4+ 1(5)0 xf 105x x 8) (40x x 12) : (36x x 12)
=1680x : 480x : 432x =35:10: 9.

1
Hence, B's share = Rs. (21600 X 5—2) = Rs. 4000.

38

A

39

x: -
$7

In each step, all the symbols move in the sequence

40

41.A |42A |a3cC l[44c  [a5B [46.A  [a7.Cc [48A

49.

50. A

51

EIEIE

The ratio of imports to exports for the years 1998 and 1999 are 1.25 and 1.40
respectively.

Let the exports in the year 1998 = Rs. x crores.
Then, the exports in the year 1999 = Rs. (500 - x) crores.

250 250

Y25 =—"=%= 125= = 200 [Using ratio for 1998]
Thus; the exports in the year 1999 = Rs. (500 - 200) crores = Rs. 300 crores.
Let the imports in the year 1999 = Rs. y crores.
Then, 1.40 =355 = y = (300 x 1.40) = 420.

._Imports in the year 1999 =Rs. 420 crores.

152

The imports are minimum proportionate to the exports implies that the ratio of the
value of imports to exports has the minimum value.

Now, this ratio has a minimum value 0.35 in 1997, ie., the imports are minimum
proportionate to the exports in 1997. '
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53 D. The graph gives only the ratio of imports to exports for different years. To find the
- percentage increase in imports from 1997 to 1998, we require more details such as
the value of imports or exports during these years.
Hence, the data is inadequate to answer this question.
54 B. Ratio of imports to exports in the year 1996 =0.85.
Let the exports in 1996 = Rs. x crores.
| Then, == 272 =085=>x= 03% 320.
Exports in 1996 = Rs. 320 crores.
55 D. | The expoits. are more than the imports imply that the ratio of value of unports to
exports is less than 1.
Now, this ratio is less than 1 in years 1995, 1996 1997 and 2000.
Thus, there are four such years.
56. D No answer de
scription available for this question. Let us discuss.
57. D|58B |59.C 60.A l61.B |62 |63.B |64.D
65. |B 66.C |67.B ’
68 C
Y
70 D. In each row, the second figure is obtained by removing the outermost element of the
first figure and the third figure is obtained by removing the outermcst element of the
: second figure.
71 A 72.D [73.¢__|74C [75.B_ |76B [77D [78A [79B
80. |B 81.B  |82.C NG 3
83 D. Ty
Lo n |
84 B. In fig. (X), the dot hes in the region common to all the three figures - square, triangle
and circle. Out of the four alternatives, only fig. (2) contains a region common to all
the three figures. Hence, fig. (2) is the answer.
35 B. The upper element rotates through 180° and its head gets inverted. The lower element
gets vertically inverted. o _
86 B 87.D 88.C 89.B [90.A  |91.A 92D
93 . D - .
94 C. Men /—>Men
Mammals  (or) Mammals
Vertebrates : y VBrbsbratds .
Only (3) follows.
95 C 96D  |97.B
98 D. All except Cycle run on fuel.
99 C. As 'Knowledge' is achieved by 'Reading’ in the same way 'Experience’ is achieved by ‘
; , "Work'". :
100 A.




“—--.._-‘.--—‘-————f_"-_——-—--—-_-_,—_--—-‘-_.—'.f-«_-,-.-—_ X

387 -

AT 23 ©I m onifdr Answer Key

®B®O®

26.

QICICle)

5i.

®®O®

BOO®

O®®OO

27.

@®@®O®

52.

®®O®

®EO®

®®O0O

28.

BBOO

53.

A®O®

®®O0®

@®O0

29.

A®O®

54.

®EO®

®®O®

®®O®

30..

@®O®

55.

®®O0 | s

OB®O®

O@®O0®

31.

®®O®

56.

®®OO®

®EO®

H®O®

32.

®®O0®

57.

®®O®

- | ®B®O0

@®O0

33

®®O®

'58.

®@BOO

®EOO |

1
2
3
4
1s.
6
7
8
9

OO

34.

®®O®

59.

®EeO®

®®O0®

10.

@®O00

3s.

®®O0

60.

A®OO

@®OD

11.

®®OO

36.

OO

61.

®®OO

CHOD

12.

OO0

37.

®®O®

62.

@®O®

@O0

13.

[&®00

38.

®B®O®

63.

®B®O®

®®OO®

14.

®®O®

‘39,

®EOO

64.

®A®O® |

®BOO

15.

®®O00®

40.

®®OO®

65.

AB®OO

®®OO®

16.

®®O0O

41.

®®OO®

66.

®®O®

®®OO®

17.

®®O0

42.

OB®O®

67.

®®O®

®®OMO®

18.

OEO®

43.

lolele

68.

ADE®CO

®EOO

16,

®EOG

44.

| @®OO

69,

®ECD

®®OO

26.

C®OD

45.

®B®OD

79.

GA®OD

®®O0

21.

O 00

46.

®®O0D®

71,

®EOD

@®O0D

22.

@®00

47.

OO

72.

BEOCD

®B®OO

23,

OO

48.

BHOHOO

73.

®EOO

®BOO |

1 24.

®B00®

49.

®BOP

74.

®EOO

®®O®

25.

OEO®

50.

[ BBO®

75.

®@®OO |

100.

O®®O®
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LGl Ua‘éﬂﬁt 3T : 28 (Set 24)

1. WRITEE Ilﬁaﬁaﬁaﬁmw@mwml

Sl E 1
a. 75T HUgR™ 1. %
b. Y HREE 2. HIBHTE
c. OIS WUREE ; 3. @
d. fey dueed 4. 9@
) A) asb;cid, B) a)b;cid, C) "azbycsd; D) a;bscsd,
2, mmmmmwﬁmm
F) =, WRd, 3, Rt W) =M, T9, YRa, A
M =M, IRd, FEREEI, S ) I, YR, T4, STHA
3. WRITEE I 159 Sire fers rear 39 SW ik THag|
a. MIGA 1. S (Rasreame) |
b. WIPO : 2. T (32N
- ¢c. IFAD . 3.  afagea fest (USA)
d. UNWTO , 4. wfss (@) *
FE a2 b ¢ d
A 3 . 2 1 4
(B) 4 3 1 2
© 2 4 3 1
o 3 1 2 4

Study the followmg passage and answer that follows ( 4-8):

Sometimes we went off the road and-on a path through the pine forest. The floor of the forest was soft to
walk on; ‘the frost did not happen it as it did the road. But we did not mind the hardness of the road
because we had nails 1 in the soles and heels nails bit on the frozen ruts and with nailed boots it was good
walking on the road and invigorating. It was lovely walkmo in the woods.

4. 'Frozen ruts' means
A. very cold roads
B. wheel marks in which frost had become hard
C. . theroad covered with frost
D. hard roads covered with snow
S. The floor of the forest was soft because
. A. the forest did not harden it on account of trees
B. the travellers were wearing boots
C. the shoes had nails on their sole and heel
D. they enjoyed walking in the woods



6.

9.
10.

1L

12.

13.

i,
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?

We did not mind the hardness of road because

A. wehad nailed boots on

€. the walk was refreshing

We found great joy on account of
A.  wearing railed boots

C. walking occasionally through the forest

Sometimes we walked through the pine forest as.

A. the path was unaffected by the frost

. C.  the walks was invigorating

e YRR HREE HieRiE e Wﬂﬁﬁ ?

A fad.3ye B, fad. 0% .
mqﬁmmmmquM%ﬂmﬁam

A, fre, 5, 59, 9F, v
C. =E, fog, 3m, 3@, v

W1 TR U = sie fremeade -
a E GRS

b.  Earth Summit

c. WRNEHA

d. CTBT

Ay asbicid; B) a.b;c.d;

mmﬂ@mmﬁfﬁwm’@ﬂ

BCFG : HILM :: NORQ:?

B. it was good walking on the road
D. the nails bit on the frozen roads

B. the good long walk on the road
D. - walking on frost with nailed boots on

B. it was good walking with nails in the boots
D. it was sheer joy to walk in the forest

c. fad. ?om D. ﬁmma

B. ﬁl@, ‘\'?h, agrg: gaif\arﬁq : :
D. forw, 3, s, e, e |

FEI
i. Agenda2l
2. EEhETH At
3. e gfaaw
4, dAeEw :
C) azbrcsd, D) a, E,c;d.;

C. TUXW ‘D. - TVWX

A TXWU - B.  TXUW
_m%w&mmmﬁmwm
123:13::235 -

A 23 B.: 35°

G 28 ¢ s P 8%

mmmmmmmnﬁm

_ Which one will replace the question mark ?

1.6 : 28 2@

13 12 1-64

14 i0 15
E 15 30 ?
0

A 60 B. 3C

.28 P48



15.

16.

17,

18.

19.

mmmmﬁmmww

C)  Very Small Application Terminal D)

Which one will replace the questlon mark ?
Q P Q

A 60

anuﬁwmﬁaﬁa&qz

TR T I

a. AR B T 1. e S fa.

b. AU ufee sufaw ¥ : JUrA UL

c.@iwﬁmwﬁamm it ¥ fa.

d. %Wﬁﬁa%wﬁraﬁimz@ﬁw@m 4. iy afoeg %

gfzen aifoeg S

A) aybceds B) abicsds . C) abjcsdy D) aybydscs

T 1 1T 1 Tt iy fvemegdi | W

e 1 ; FEIYES

a) == 1. W SR

'b)  Tags 2. wHweiEm :

¢y A 3. A

d e me@ra 4. v S

A} abaesdg - B). azbjcs.dy : O agbse ., D) aybyeydy

TR ITwE 11 o <ie firemd S sugs sweie wim) ® '

T TR I

a.  FfegsE : S 1 S, g9

b oA : 2. . firem

c. oA 3. U

d. RO 4. TEFA B

A) abiesds B) abicyds  C) arbicyds D) abscyd

V-SATRIQUTIR S 2 =3 ' : :

A) * Virtual Small Appearture Terminal B) Very Small Apprture Terminal
Virtual Smail Application Terminal.
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TR I IEE Ilfﬁmmmmmmﬂjﬁm

w1 TEL

a. fafas freard srsen ' C 1. R R T e

b. el S | 2. AT A9 SR FarETE
c. T 3 dmTsi e

d. s Pt ' 4. Fees = T FEe

A) asbicsds B) a bscsds C) “asbecidy <t 7 D) Taybscadi

From the given alternatives, choose the one which best expresses the ngen sentence in
Indirect speech. -

My cousin said, "My room—mate had snored throughout Ehe night."

A. My cousin said that her room-mate snored throughcat the night.

B. My cousin told me that her room-mate snored throughout the night:

C. My cousin complained to me that her room-mate is snoring throughout the mght

D. My cousin felt that her room-mate may be snoring throughout the night. ¥
Choose the alternative which best expresses the meaning of idiom

The popularity of the yesterday's superstar is on the wane:

A. - atits peak B. atrock bottom C. growing more D. growing less
Pick out the best one which can compléte incomplete stem correctly and meaningfully
Even though it is very large house, ...... i
A, there is a lot.of space available in it for children

B. there is hardly any space available for children

C. there is no dearth of space for children ‘

D. the servants take a long time to clean it

Ram was so badly injured that he needed ...... care in the hospital. -
A. extensive B. ' litde C. deep ~+*  D. intensive
TR Hew IR & S0 2 :

A. Gl B. aeIgfEn C. H9Ng D.. wfas
<! ATt TR W 1 TR 1 fae S freege

Rl L WEND
a. ATETET GATETEER! TTIAT 1. fad.9:9r
b. U W1 IS - - -2, fad. 09
c. SRR e Ty 3. faH. 9%5%
d. gmeetafy 4. fad.oqe
A) agbscrd; B) asbrced C) abycsd, D) .abscd,

, Mﬁrtmww“ﬁmmﬁﬁ?, . ,
A) e fom B) TedEaRseaR C) fodifaee D) fzrﬁr@twae
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31.

32.
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mafrﬁaémm WIWWWW?

Which of the following diagrams mdlcates the best relation between Hospital, Nurse and
Patient ?

AA-@-'B- c.@_-p_@o

. yyAaTEe e o e e fase B TR

Select a suitable figure from the Answer Figures that would replace the questlon mark (?).

Problem Figures: Answer Figures:
OB 7] OBk
Aa @ © @O (1) @..03) @ 5
A 1 B. 2 Ei=: 53 D. 4

T feguen femmn fings T oo SRS S U SR, |

How many triangles and parallelograms are there in the following figure?

A

A 21,17 B, 19,13 a5 D 19,17

o e e o Wi = 9 |

Choose the figure which is different from the rest.

KR HKIH| K

m @ 6 @ 6

A 1 g D. 4
mmmmmmmmmmmmw
$?

A I HRERR, fE< AR, Y HEMIR, % He’TR, AT HeTR

B. U HEENR, AT HEEIR, Y HRIETR, fos AR, WA HeMER

D. YU% HEEFR, HHE HeMIR, AFY IR, 5 HearR, Tei-d #ErR

et 318 e

Q)  FHOHE! STIBIB! THAD <oooveiivernnnes WIS TS |

R) USR] TR ST TFHT Wh! TR ooovoeienneneciae A1

A) I YIS/ g faamere B) WM WIS / TEE™ fammeed

C) TRl ¥=AIE / i fammed © - D). HimM YU/ gal fanmee



35.

37.

39.

41.

42.

- which is correct.
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‘An Account of the kingdom of Nepal’ mmﬁﬁ ?

9?2

If the total number of dots on opposite faces of a cubical block is always 7, find the figure

A fEaTe B. fafrmmswwfes Cc. iEm D.” AEASYH
HIR TRt SR I FA QA 6F T & 2

A. Fd B. WRrERfeE C. sffme D. ¥RdeH
You cannot devise a method which ...... all possibility of errors.

A. excludes B. includes C. avoids “Diod gnores
Many areas of the city were ...... into darkness for several hours.

A. spread B plunged C. merged . D. des;:
_Find the ...... that accompany these cartoons.

A topics B. titles C: captions : D. beadings
TP YA HFIA T T Ty S TR ,

1) g AfER v IfES WY

) W IFARH RSP T FFY HEETR 95 |

3 YuREfEd T AT werRer I SR A

¥) Y AR el W A fen dn

A 3,33% 3, ¥ &= B R,33® ¥ Ww

ch aéaﬁa; : D. W4 33&

TEl wqx b1 mmmmmmwm.

5l wE I

a. fosogaet 1. =R

b. wEREE 2. HEEER

c. N FHue 3.  wuHfay

d. =8 4. gl A

A) azbicods B) aibjesd; C) aybycsdy D) asbicsd;
a.  Swfesge fa q. . T AFHATA

b. FH faal . WRSH Aved

c. HEgeH fum 3. Vint Cerf

d. fagme famn ¥. Charles Babbage

A. a2,b4,c3,d1 'C.. a3,b4,¢2 d1

B. a2,b-3,c4,d-1 D. a-3,b-2,c-1,d4

'mmﬁqﬁamﬂmmmmewwmaﬁﬁa

Fig.
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